OPTION-B
Paper : COM-GE- 5026
(Business Economics)

1. Answer the following as directed :
1x10=10
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(a) Define production function.
Terlivw Teres ket |

(b) Define cross elasticity of demand.
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(c) is the root cause of all economic
| problems. (Fill in the blank)
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' (d} Show the shape of isoquant in the case

of perfectly substitute factors.
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() What is sunk cost ?

oRiR AY e
() Define opportunity cost.
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' ~ (g) Draw a short-run average fixed cost
| curve.
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(h) In which type of market, selling cost
exists ?
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(i) Rentis a surplus.
(Fill in the blank)
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() What is real wage ?
oS TGR T &2
Answer the following questions :
2x5=10
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(@) What is meant by expansion path ?
R A9 3 & e
(b) Distinguish between accounting cost
and economic cost.
fBiol X % SAHOT TS Me AL vty
(c) Show the relationship between average
cost (AC) and marginal cost (MC).
TS AT % A I TAE MYS |
(d) Write two distinctions between market

price and normal price.
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(e) Mention two characteristics of oligopoly.
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3. Answer any four of the following questions:
5x4=20
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(a) Explain how ‘scarcity’ leads to economic
‘problems.
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(b) Explain the determinants of price
elasticity of demand.

vifR v Rfsomer vz o i
(0 What is an isoquant ? Explain the

properties of an isoquant.’
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(d) Why is the long-run average cost curve
U-shaped ?
AW 18 T @IeE B U wigfes =y
(e) State the characteristics o6f monopolistic
competition.
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() Mention the factors that determine the
real wages of labour.
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4. - Answer the following questions :

10x4=40
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(a) What is demand forecasting ? Critically

(b)

discuss various methods of demand

forecasting. - 2+8=10
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What are returns to scale ? Explain
various types of returns to scale with
suitable diagrams. 2+8=10
R Ao B2 oot Miaw [ew oieg
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What is firm’s (producer’s) equilibrium ?
Explain the equilibrium of a firm with
the help of marginal revenue and
marginal cost approach. 2+8=10
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What is least cost combination of

inputs? Discuss how least cost

combination of inputs is attained with

the help of isoquants and isocost lines.

2+8=10
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(c) Explain the short-run equilibrium of a

firm and the industry in a perfectly

competitive market. 10
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What is price discrimination ? Mention
two conditions of price discrim-ination.
Explain how equilibrium price and
output are determined by a
discriminating monopolist. 1+2+7=10
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(d) Critically discuss the marginal
productivity theory of distribution.
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Critically discuss the uncertainty
bearing theory of profit. 10
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